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The figures in the margin indicate
Jull marks for the questions.

“Answer either in English or in Assamese.

1. Fill in the blanks : 1x7=7
AT 9 o3 A 8
(a) Vassopressin hormone deficiency
CONSES .. oy disease.

oR' e 5 SoRe (@Rl @Ry Te

(b) Contraction of the heart starts at the
............... node.
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{c] Levdig cells Secrete ... . ... S
hormone.

GRS PRGN coeveenrenenn. T w2l
IE |

(d) The peptic cells of gastric glands secrete

..................

AFTen Afge 4 (AT @R
................. F4 I |
Bl i is the protein part of
holoenzyme. ;
................. T2r= (A T 3 ' o oedl |
(A ‘Bundle of His’ is found in ...... e .
REA AR s - SRIZS |
(g) . SRR gland secretes luteinizing
hormone. :
................. 2IfgT FLORAIRIGR 2T A T A |
Answer in brief : (any four) 2x4=8

53t Tes famt ¢ (Rt o1fa6Y)

(a) Define Michaelis constant.

NElerz '3 9 o
(b) What is chloride shift?
T2 PRI (e
(c) Define synapse.
RIY ARG 7@ i |
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(d) Significance of Urea Cycle.

BRI 57 Ol |
(e) What is muscle contraction ?
AT Ao vt 5 et e
Write short notes on : (any three)
‘ , _ - 5x3=15
53 CORel foral ¢ (Rieezant fofaoy)
(a) Oxygen dissociation curve
- e Reed @@
(b) p-oxidation of palmitic acid
ARG GfRes &Ko! e
(c) Krebs’ cycle '
(d) Neurotransmitter
RICAT
(e) Role of hormones in female reproductive
system.

F-TTeE 9 89O '] S| |

What is blood coagulation? Describe in

~detail the mechanism of blood coagulation.

b 2+8=10
3@ rew AET 7 (oot S AfF @ EmE
2, Izene ol '
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or [ 923t
What is digestion ? Explain in detail the
physiological process of carbohydrate
digestion in man. 2+8=10
A 2 " 1z “TW Al SR W
RIISHESSIN

Describe the mechanism of Enzyme action ?
Write a br1ef note on Enzyme kinetics.

5+5=10
@emm%ﬂﬁﬁa@mﬂ@&mﬂﬁﬁ@mwvﬁ—
59 (Ol ferat |

Or / §%4!

Define action potential. Describe in detail
the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10
ol fiex's o@ fordl | MAfeWREN Ryoed W@
TRLEREAR 22 (FEWE AT =7 =613 B |

What is countercurrent mechanism ? Write
a short note on mechanism of urine
formation. 5+5=10

- ofeyd W?@FﬁW@@Q‘?{W»{ sferaR @ @b
53 (it foran|

- Or/ 94!
Explain in detail the mechanism of Electron
Transport Chain in .mitochondria. 10

T HGAS W61 ARG AR <@t FILere!
I 0 |

.3 (Sem-3/CBCS) Z0O HG/RC/G 4 5000



